2.5 - Subtracting Integers 1

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Subtract.
1H1-7 1)
A) -8 B) -6 Q)6 D) 8
2)-8-14 2)
A) -22 B) 6 C) 22 D) -6
3) -12 - (-2) 3)
A) 14 B) -14 Q)10 D) -10
4)4-(-1) 4)
A)3 B) -5 Q)5 D) -3
5) 18- 18 5)
A) -18 B)0 Q)18 D) 36
6) 0-12 6)
A) 12 B) -12 C) +12 D) -(-12)
7)-5-5 7)
A) 0 B) -10 Q) -5 D) 10
8) -24 - (-24) 8)
A) -48 B) -24 C) 24 D) 0
9) 0-(-18) 9)
A) 36 B) 0 C)-18 D) 18
10) 2 - (-2) 10)
A)2 B) 0 Q)4 D) -4
11) =190 - 340 11)
A) 530 B) -150 C) -530 D) 150
12) -144 - (-47) 12)

A) -97 B) 97 C) -191 D) 191



Answer Key
Testname: 2.5 SUBTRACTINTEGERS1

1)B
2) A
3)D
4)C
5)B
6) B
7) B
8) D
9) D

10) C

11)C

12) A



